3.50

12,06

o

4,92

1,65 |

5,13

7@

_ S ™
« 2”7 3 Elotér % bm=2,76 61 \ A\
\ — s mett. z 54 Orvosi N a5 \ _
) wREG1 2%\ Kut.abor lam.park, BNE 2\ N
3.08 \/\‘f\\ kenlap2 1L m? =\ \& \ X
E - \ "
Sy S w LR | Tdom: e
o o\l Iroda 2\ % \ [N
\ v k. S %
S VA pk e \
N /‘\J\ 3.7 m .0. 2% \
g bm=2,13 2 == w\\ e . E \
-1,69 - 130\ ~
Fodl AR e\
- o \ o
g lllus _LE X 60 2\ 2,
s Trod 0 g ""}\\ RN 55 Kews O\ \\ AN
m b - N Kut.labor pve 4
er.lap B S 0 -1,80 lerl 5 \
\ 5 i LN
2 W\ ' Al -
RS 8 R 2\ VIS\e E\ W o &
o o 2 |2 bm=2,79 \ \ =)
o N o ?“\ \,\\ =) 7. ¥
g o [ \ % K 59 ) \
7 24 h © 5_} 56 n\%lé m>\ Kutlabor = 2\g \\ AW
2 2 2 4
L7 St TR S FOGKLINIKA
Kut.labor 'S \0 208\ I 2011 © . .
i roda \ > \ Y .o
. erlap % 2t %) Irod o P 5 0\ B\ foldszint alaprajz
a . ¢
: o 50 N By @ . késziilt: 2005. jini
R ¥'% » e Kezelo Ds_\ X eszult: . junius
v SO V- 2% pve \ \ o
w90 % \ 2 \\Wag 7 P . -
ﬁ{l,nzﬂm ~ il R 203w S e modositva: 2007.julius
) _ 5 A
o -1,82 T \ 0 e \
R bm=2,17 - ﬂﬂl P\ A W a0 s {O \ g 2007.augusztus
N ZAIN e A 6 s . \ \ ©
S % o e 32 R
& 28 252 28 / / yeA S bm=268 2 W\ =
/o S IR
/ X A? 28 \° 2 \ X
/ / 512 m.mo, 22 -0/ 58\ \90 X 1095 434
L 1473 / S . 4 2 0s - G
[ s s o Wi b 3% “ g N miger 57 = 12, 164 25 154 43 15 221 8), 119 ) 43
b = i Ak N 04 o WA lap, 5 69 139 p | \28s o199, Us8 , es 78,78 | 277 L8
oln ol 1[2/12m; | |ale o 315 Q B A 37 \W 7 TUST 1 A ) S 7 f .
= a =l *%—a%ws ;N 414 65 TR WC WC
== % TE27 = =17 13 " 18 mett.  mett. 7 3
[ 2 & 5 hH ~
m 1,25 s m 1,35 gm& 5 A\J—‘m 05| mB85 Mm"’” \:,\\ 2 8 @ E Pt @ E ngl 92m§ £2m 3RS o Raklt‘ér 28 ZT ~
50 200 50 IS ~ ] r T r m.moz, | .
. 90 %Eé%%%ﬁz:q dE‘ = / >——4V F% ? Eq? 248 mTO | 55'"':‘:' =
§ j 4 2O ; m 1,95 ﬁ/ mi15 ml35 ml15 m2 j@n 05\ m1; 207 o d
= . ) oz e =
o1 a 7 zem.pihen % Kozlekedo-Varé 23 A 476 8 342 Sles
a 2 m.moz. ~ 2 :\l/: =
gyerm(;le(g)%aszat 2 g - 38| s %c , BISE, A Labt 225§ 23 X
041 2 s (] 155 M2 458 , e ey 22 Fosszal dlvozhs 2
) ~ @ g: ) o0 7 2k F abil yozas % enJ"""*’ = 2
—| N . g o X
50 559 S 207 NS0 F30m° 5o [ 814 S 2485 m? ToMsm O 129 i
bme362 o 3 g ] 35 1 ™ 2 B mt{i(? isr[:'xh;zoz
m=3, =2 ~ — 245 = = S| - g g
12 50 2.0 T[ragv S €L bm=3.30 S 13.23 m? g
K 2 /LV * s \3 j
0172 Zi % % 9 2 25 E
/a < R AR
{ 00 s, Sl =~y : &
O 10.82m & 2 i 3 e 5 g~
< 2 N a >
= o 100 ?oga, kartonozé £0,00 S #T e, S
3 200 S /]« park. bm=3,40 [an 19,10 Pt 27 33
= 13 8.00 m? |> = —‘N = Sterilezo
IS0 o, Ngyermekfogdszat 2 m e Sl A g8 m.moz. < [
E =R gress. = 28 g 7j g = ¥ 3 32 == 16.94 mp L1120 a
= N 34.84m? R - s\s 3 4 . : . et 1T
N N 2Ne J m 1.00 £
2 0 2. u 9 Orglis Medicina Ambulancia ;
N Tel) = Felviroda S Rendels mett, ez
& o v ) park U Bejirag pve 1 2. 13.48 m? . o
. . S0 460m L J273m . . 47 s
m m m m m m
/‘ “V /‘“ ‘!/ E%Z J“ ‘% /‘ ‘V m ,ZOV Am ,ZOY{m 0‘,/ Am 20 A‘m .20 Wﬁm .ZOV NS
%} I ) v ] e 2 i /?2 i % /% s v Kk % s ﬂ)ﬁg‘w'/h"‘v ﬂ)ﬁg‘ i — I <
[s) =la) I=1Es) ks 2 0 2 D o[ N =IFd =IFd o o o o
als a5 b 2N+ o1 b als a8 8= 8= 8= = 8= =
190y 261 v 261 ¥ 2,64 L 258 L 2.62 L 2,60 2 261 L 2,60 poo20T L 08p 1S6 L 230 p 156y 230 L 156 2,60 po200 y
50, | 8.10 8y, 935 2L 18 50, ) 464 15 ) 543 y L 400 12 717 s 245 43
7 (K 1 eon 7 ( 4g q 1505 M (




